DELHI URBAN SHELTER IMPROVEMENT BOARD GOVERNMENT OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEEER, C-1, Raja Garden, Near DTC Bus Terminal, New Delhi-110027

NIQ No.12/EEC-1/DUSIB/2018-19/D-817

Dated: 24.01.2019

NOTICE INVITING QUOTATION

Executive Engineer, C-1, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies on percentage rates basis in sealed cover for the following works:-

SL. NO	Name of work	Estimated Cost	Time of
1			Completion
1.	N.O.W: DUSIB Estate Management Fund SH: Making 221 flats habitable at site no. I sector 16B Dwarka	Rs. 871541.00	One Month

The quotations shall reach the office of the Executive Engineer, C-1, DUSIB, Raja Garden, New Delhi-110027 latest by 3.00 PM on 28.01.2019 which shall be opened on 28.01.2019 at 3.30 PM in the presence of intending quotationers or their representatives. The intending quotationers may collect the schedule of quantities on DUSIB website and other information from the office of the Executive Engineer, C-1, DUSIB. The terms & Conditions of the quotation are as follows:-

- 1. The work shall be carried out as per CPWD specifications.
- 2. Payment shall be made as per actual measurement at site of work.
- 3. No T&P shall be issued.
- 4. Conditional quotations shall be liable to rejection.
- 5. For any disputes the matter shall be referred to SE-I DUSIB for final decision and the same shall be binding upon both the parties.
- 6. Statutory recoveries shall be deducted from the bills of contractor as per rules.
- 7. Work shall be completed to the satisfaction of Engineer-in-charge.
- 8. Debarred/blacklisted agencies shall not be permitted to submit quotations.

EXECUTIVE ENGINEER, C-1

NOTICE BOARD

Publication on DUSIB Website

Name of Work :- DUSIB Estate Management Fund.

SUB- HEAD: Making 221 flats habitable at Site no I Sector 16 B Dwarka.

ABSTRACT OF COST

	ABSTRACT OF COST				
No.	Items		Annex	ıre	A
1	Supply of S.C.I SOIL, WASTE AND VENT SINCLE CONTROL	Quantity	Unit	Rate	
	1.80 METRES LONG 100 MM	2.00	1.80M		Amount
	Rs. One there		1.00.0	1334.00	2,668.0
2	Rs. One thousand three hundred fortyfive & paisa si Supply of S.C.I SOIL, WASTE AND VENT SINGLE SOCKETED PIPE 1.80 METRES LONG 75 MM	xtv only			
	1.80 METRES LONG 75 MM	2	1.80M	1400.00	
	The state of the s	_	1.60101	1102.00	2,204.0
3	Rs. One thousand one hundred thirteen & paisa sixt	ty only			
	THE VILL PAN SIZE FOO MAN		_		
4	Rs. Five hundred eighty &paisa nil only Supply of CPVC. PIPES 15 MM DIA	5	each	522.00	2,610.0
<u> </u>	Supply of CPVC. PIPES 15 MM DIA				
5	Rs. Forty two & paisa ninty two only	50.00	metre	40.60	2,030.0
5	Supply of CPVC. PIPES 20 MM DIA				2,030.0
	Po Ch t C	10	metre	62.64	000.4
6	Rs. Sixty four & paisa ninty six only Supply of 15 MM PTMT BIB COCK			52.047	626.4
	Ps Eight - 1	90	each	87.00	
7	Rs. Eighty nine & paisa thirty two only Supply of 15MM DIA. PTMT STOP COCK		Cuon	87.00 /	7,830.0
		12	each	87.00	
8	Rs. Eighty nine & paisa thirty two only		Cacii	87.00 /	1,044.00
	Supply of Ordinary Portland Cement				
		0.5	M.T.	6612.00	3,306.00
9	Rs. Six thousand six hundred sixty six & paisa eighty	six only			3,300.00
9	Supply of PVC Tank of 300 lit. Capacity	oix offiny		- 1	
		0 -	Lit.	6.15	
10	Supply of Flush Decay St. III				
	Supply of Flush Door Shutter 30 mm thick	20.00			,
	Rs. Two thousand sints and	20.00	Sqm.	1972.00	39,440.00
11	Rs. Two thousand eighty eight & paisa nil only Supply of coarse sand zone III				55,110.00
	Zone III	40	Cum	1392.00	
12	Rs. One thousand five hundred eleven & paisa forty eig	aht ank	Ouiii	1332.00	13,920.00
	Supply of PTMT Ball Cock 15mm complete with Epoxy Coated Aluminium Rod & H.D. Ball				
	Rod & H.D. Ball	150	each	121.80	18,270.00
	Rs. One hundred twenty and S				70,270.00
13	Rs. One hundred twenty one & paisa eighty only				
	15 mm nominal bore and 45 cm length PVC connection pipe with PTMT	15	each	39.44	
					591.60

	Rs. Forty five & paisa twenty four only					
14	Flushing Cistern P.V.C. 10 litre capacity (low level) (White) (with fittings,accessories and flush pipe)	8	each	696.00		5,568.00
	Rs. Seven hundred one & paisa eighty only					
15	Flexible (coil shaped) PVC waste pipe for sink and wash basin 32 mm dia with length not less than 700 mm i/c PVC waste fittings	16	each	32.48		519.68
10	Rs. Thirty eight & paisa twenty eight only					
16	Supply of 20 mm dia PTMT stop cock	100	each	139.20		13,920.00
	Rs. One hundred forty one & paisa fifty two only	,				
17	Providing and laying double scaffolding system (cup lock type) on the exterior side, up to seven stort height made with 40 mm dia M.S. tube 1.5 m centre horizontal & vertical tubes with cup & lock system with M.S. tubes, M.S. tube challies, M.S. clamps and M.S. staircase system in the scaffolding for working platform etc. and maintaining it in a serviceable condition for the required duration as approved and removing it there after. The scaffolding system shall be stiffened with bracings, runners, connection with the building etc. wherever required for inspection of work at required locations with essential safety features for the workmen etc. complete as per directions and approval of Engineer - in - Chrage. The lavational area of the scaffolding shall be measured for payment purpose. The payment will be made once irrespective of duration of scaffolding.	100	sqm	160.15		16015.00
18	Providing lead caulked joints to sand cast iron / centrifugally cast (spun) iron pipes and fitting of diameter : 100mm	10	each	309.95		3,099.50
	Rs. Three hundred nine & paisa ninty five only)				
19	Repair to plaster of thickness 12mm to 20 mm in patches of area 2.5 sqm and under, including cutting the patch in proper shape, raking out joints and preparing plastering the wall surface with white cement based polymer modified self curing mortar, including disposal of rubbish, all complete as per the direction of Engineer-in-Charge	100	Sqm	368.9	7	36,890.00
	Rs. Three hundred sixty eight & paisa ninty only	/				
20/14 5.1	Renewing glass panes, with putty and nails wherever necessary including racking out the old putty					

	Float glass panes of thickness 4 mm	58.03	sqm	637.9	37,017.34	1
	Rs. Six hundred thirty seven & paisa ninty on	ly		0017		/
20/14 .64	Finishing walls with water proofing cement paint of required shade : Old work (one or more coats @ 2.20 kg/10 sqm) complete.	11,532.15	Sqm	37.9	4,37,068.49	
	Rs. Thirty Seven & Paisa Ninty Only					
21/14 .44	Distempering with dry distemper of approved brand and manufacture (one or more coats) and of required shade on old work to give an even shade.	300	Sqm	30.05	9,015.00	
	Rs. Thirty and Paisa Five Only				-]
22/4. 1	Providing and laying in position cement concrete of specified grade excludingthe cost of centering and shuttering - All work up to plinth level: "1:2:4 (1 cement : 2 coarse sand (zone-III) : 4 graded stone aggregate 20 mm nominal size).	1	Cum	5481.95	5481.95	
23/14	Painting with synthetic enamel paint of approved brand	900	sqm	51.30	46,170.00	/
.54	andmanufacture of required colour to give an even shade : One or more coats on old work					
	or many source and the many				7,05,304.95	1
		Add	12.75 %	C.I.	89,926.38	/
					7,95,231.33	-/
		De	duct 9.	50%	75,546.98 7,19,684.36	
		Cantingo	ncios @	1%	7.400.0	

Name of Work :- DUSIB Estate Management Fund.

SUB- HEAD: Making 221 flats habitable at Site no I Sector 16 B Dwarka.

Abstract of cost

		Annexure		В			
	Engaging of Labour with T & P			1			
1	Plumber/Fitter 2nd class	30	each	582.04	17461.25		
	Rs.Seven hundred sixty three 8	17 10 1.20					
2	Mason lind class	30	each	582 04	17461.25		
	Rs.Seven hundred sixty three & P.ninty three only						
3	Carpenter lind class	30	each	582.04	17461.25		
	Rs.Seven hundred sixty three & P.ninty three only						
4	Beldar	90	each	478.11	43029.50		
	Rs.Six hundred ninty three and P.	seventy se	ven on		43029.30		
5	Safai Karamchari	110	each	478.11	52591.62		
	Rs.Six hundred ninty three and P.	seventy se	ven onl	v 470.11	52591.627		
			. 511 0111				

148004.86

Add 12.75 % C.I.

18870.62/ 166875.48

Deduct 9%

15018.79

151856.69

Name of Work :- DUSIB Estate Management Fund.

SUB- HEAD: Making 221 flats habitable at Site no I Sector 16 B Dwarka.

ESTIMATED COST PUT TO TENDER

General Maintenanse Labor Part

١

7,19,684.36 151856.69 **8,71,541.05**